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0106 

B.B.A. IST SEMESTER EXAMINATION, 2019 

ENVIRONMENTAL STUDIES  

i;kZoj.k v/;;u i;kZoj.k v/;;u i;kZoj.k v/;;u i;kZoj.k v/;;u     
Time: Three Hours 

Maximum Marks: 100 
 

INSTRUCTIONS/ funsZ’kfunsZ’kfunsZ’kfunsZ’k    
1. The test booklet contains total 100 questions. Each question carries 1 (one) mark.  

 iz'ui= esa dqy 100100100100 iz’u gSa rFkk izR;sd iz’u 1111 vad dk gSA  
2. Candidates shall be required to attempt all 100 questions.  

 lHkh 100100100100 iz’u gy djus vfuok;Z gSaA  
3. No negative marking.  

 _.kkRed vad ns; ugha gSaA 
4. On receipt of test booklet, the candidate should immediately check it and ensure that it 

is complete in all respect. Discrepancy, if any, should be reported by the candidate to 

the invigilator within 10 minutes of receiving the test booklet.  

 Nk= iz’u cqdysV izkIr djrs gh lcls igys mlds dqy i`"B rFkk iz’u la[;k tk¡p dj ys] ;fn iz’u 
i= esa dksbZ =qfV vFkok dVk&QVk gks rks rqjUr i;Zos{kd dks lwfpr djkosaA 

5. The answer sheet is in the form of OMR answer sheet. Candidates should blacken the 

circle corresponding to correct answer.  

 Nk= dks lHkh iz’uksa ds mÙkj OMR 'khV esa nsus gSaA Nk= dks lgh mÙkj ds dkWye dks dkyh 
isfUly@dkys isu ls xgjk dkyk djuk gSA 

6. While answering each question, candidate should blacken OMR properly with HB 

pencil or black ball pen as per instruction printed on the OMR sheet.   

 Nk= dks mÙkj nsrs le; OMR 'khV ij fn;s x;s funsZ’kksa dks /;ku esa j[krs gq, ,p- ch- isfUly vFkok 
dkys isu ls gh dkWye dks dkyk djuk gSA 

7. For each question only one circle should be blackened. If more than one circle is found 

marked, the question will be treated unattempted.  

 Nk= dks izR;sd iz’u dk mÙkj ,d dkWye esa gh dkyk dj nsuk gSA ;fn ,d ls vf/kd dkys xksys 
cuk;s rks og mÙkj ugha i<+k tk,xkA 

8. Candidate shall be required to deposit OMR answer sheet with the invigilator.   

 Nk= dks OMR 'khV mÙkj nsus ds i'pkr~ i;Zos{kd dks tek djkuh vfuok;Z gSA 



 

 

[0106]  Page 2 of 16  

  

1. The word ecology was coined by - 

(A) Haeckel 

(B) Odum 

(C) Mishra 

(D) Tansley 
 

1. bdksykWth 'kCn dk iz;ksx fdl ds }kjk fd;k 
x;k &    
(A) gSdy 

(B) vksMe 
(C) feJk 
(D) VSUlys 

    

2. The name of bio fertilizer is - 

(A) NPK 

(B) Urea 

(C) Vermi 

(D) BHC 
 

2. tSo moZjd dk uke gS &    
(A) NPK 

(B) ;wfj;k  
(C) oehZ 
(D) BHC 

    

3. Compound responsible for depletion of 

ozone layer - 

(A) Hydrocarbon  

(B) CFC 

(C) Organochlorines 

(D) All of the above 
 

3. vkst+ksu ijr dks u"V djus esa dkSu ;kSxd 
dkjd gS\    
(A) gkbMªksdkcZu 

(B) lh-,Q-lh- 
(C) vkWxsZuksDyksjhu 

(D) mi;qZDr lHkh 
    

4. Newspaper contains the following toxic 

element - 

(A) Cd 

(B) Pb 

(C) Mn 

(D) Hg 
 

4. lekpkj i= esaa fuEu fo"kSyk rRo gksrk gS &    
(A) Cd 

(B) Pb 

(C) Mn 

(D) Hg 
    

5. Ozone day is on - 

(A) 30 January 

(B) 16 September 

(C) 21 April 

(D) 25 December 
 

5. vkst+ksu fnol euk;k tkrk gS &    
(A) 30 tuojh 
(B) 16 flrEcj 
(C) 21 vizSy 

(D) 25 fnlEcj 
    

6. Biotic component of ecosystem is - 

(A) Wind 

(B) Fungi  

(C) Water 

(D) Light 
 

6. ikfjLFkfrdh ra= dk tSfod ?kVd gS &    
(A) gok 
(B) dod 
(C) ty 

(D) izdk'k 
    

7. Top carnivore is - 

(A) Elephant 

(B) Tiger 

(C) Deer 

(D) Frog 
 

7. 'kh"kZ ekalkgkjh gS&    
(A) gkFkh 
(B) Vkbxj 
(C) fgj.k 
(D) esa<d 
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8. Who wrote the book “Flora Indica”? 

(A) Razi, 1955 

(B) Clarke, 1898 

(C) Hooker, 1955 

(D) Jain, 1983 
 

8. ^^Flora Indica^^ ds ys[kd gSa&    
(A) jkt+h]1955 
(B) DykdZ]1898 
(C) gqdj] 1955 
(D) tSu] 1983 

    

9. Project tiger was launched in the year - 

(A) 1972 

(B) 1974 

(C) 1973 

(D) 1975 
 

9. izkstsDV VkbZxj dh LFkkiuk gqbZ lky &    
(A) 1972 esa 
(B) 1974 esa 
(C) 1973 esa 
(D) 1975 esa 

    

10. DDT is an/a - 

(A) Biodegradable 

(B) Non-degradable 

(C) Not a pollutant 

(D) Anti-biotic 
 

10. Mh-Mh-Vh- gS &    
(A) ck;ksfMxzsMscy 

(B) ukWu&fMxzsMscy  
(C) iznw"kd ugha 
(D) ,UVhck;ksfVd 

    

11. Knock knee syndrome disease is due to - 

(A) Sulphide 

(B) Chloride 

(C) Fluoride 

(D) None of the above 
 

11. ukWd uh flaMªkse chekjh dh otg &    
(A) lYQkbM 

(B) DyksjkbM 
(C) ¶ykssjkbM 

(D) mi;qZDr esa ls dksbZ ugha 
    

12. During 1950 in Japan which chemical 

toxicity caused large scale damage - 

(A) Zinc 

(B) Mercury 

(C) Lead 

(D) Copper 
 

12. 1950 esa tkiku esa fdl jklk;fud inkFkZ us 
uqdlku igq¡pk;k Fkk &    
(A) ft+ad 

(B) ejdjh 
(C) ysM 

(D) dkWij 
    

13. What is Superbug - 

(A) Insect 

(B) Virus 

(C) Bacteria 

(D) All of the above 
 

13. lwijcx D;k gS &    

(A) dhV 

(B) fo"kk.kq 

(C) thok.kq 

(D) mi;qZDr lHkh 
    

14. Endangered animal species is - 

(A) Camel 

(B) Cow 

(C) Crocodile 

(D) Cat  
 

14. yqIrizk; tkuoj iztkfr;k¡ gSa&    
(A) Å¡V 

(B) xk; 
(C) exjePN 

(D) fcYyh 
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15. Endangered plant species is - 

(A) Neem 

(B) Chandan 

(C) Tulsi 

(D) Peepal   
 

15. yqIrizk; isM+ iztkfr;k¡ gaS& 
(A) uhe 

(B) panu 
(C) rqylh 
(D) ihiy  

    

16. The unit of intensity of sound is - 

(A) Cannibal  

(B) Centibel  

(C) Degree 

(D) Decibel  
 

16. /ofu dh rhozrk fdlesa ukih tkrh gS&    
(A) dsfucy  
(B) lasfVcy 
(C) fMxzh 
(D) Msflcy 

    

17. Which is a forest product? 

(A) Wood  

(B) Medicines 

(C) Fruit 

(D) All above  
 

17. dkSulk oU; mRikn gS\    
(A) ydM+h 
(B) nokbZ;k¡  
(C) Qy 

(D) mi;qZDr lHkh 
    

18. Friends of farmer are - 

(A) Earthworms  

(B) Insects 

(C) Helminths 

(D) None of the above 
 

18. fdlku ds nksLr dkSu gaS\    
(A) dsapqvk  
(B) Ñfe 
(C) dhM+s 
(D) buesa ls dksbZ Hkh ugha 

    

19. Which is an artificial fertilizer? 

(A) Cow dung  

(B) Urea 

(C) Compost  

(D) Vermicompost  
 

19. dkSu lk Ñf=e moZjd gS\    
(A) xk; dk xkscj 
(B) ;wfj;k 
(C) [kkn  
(D) oehZdEiksLV 

    

20. Gas which is responsible for the 

greenhouse effect? 

(A) Ozone 

(B) O2 

(C) CO2  

(D) CO  
 

20. dkSu lh xSl xzhu gkml izHkko dh eq[; 
dkjd gS\    
(A) vkst+ksu  
(B) vkWDlhtu  
(C) CO2 

(D) CO 
    

21. Person who is associated with ‘Chipko 

Movement’? 

(A) S.L. Bahuguna  

(B) Medha Patkar 

(C) Baba Amte 

(D) Anna Hazare  
 

21. fpidks vkUnksyu ls dkSu tqM+k gS\    

(A) lqUnjyky cgqxq.kk 

(B) es/kk ikVdj  

(C) ckck vkEkVs  

(D) vUuk gtkjs 
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22. Function of  ozone is- 

(A) Obsorb sun’s UV radiation 

(B) Protect from skin cancer  

(C) Acts as a greenhouse gas 

(D) All of the above 
 

22. vkstksu dk dk;Z gS&    
(A) ijkcSaxuh fdj.kksa dk vo’kks"k.k  
(B) Rokp ds dSalj ls cpko  
(C) xzhu gkml dh rjg dk;Z djuk 
(D) buesa ls lHkh 

    

23. The fishes in pond ecosystem are - 

(A) Producers  

(B) Consumers  

(C) Decomposers  

(D) None of these 
 

23. ,d rkykc ds ikfjfLFkfrdh esa eNfy;k¡ gksrh 
gSa &    
(A) mRiknd  
(B) miHkksDrk  
(C) vi?kVd  
(D) buesa ls dksbZ ugha 

    

24. The ultimate source of energy is - 

(A) Water 

(B) Wind  

(C) Earth 

(D) Sun  
 

24. ÅtkZ dk ije L=ksr gS&    
(A) ikuh  
(B) gok  
(C) /kjrh  
(D) lw;Z 

    

25. Excessive rainfall causes which disaster? 

(A) Drought  

(B) Volcano  

(C) Famine  

(D) Floods 
 

25. vR;f/kd o"kkZ ls gksus okyk uqdlku dgykrk 
gS &    
(A) lw[kk 
(B) Tokj HkkVk 
(C) Hkq[kejh 
(D) ck<+ 

    

26. What is the role of light in plants? 

(A) For respiration  

(B) For Energy 

(C) For excretion 

(D) None of the above  
 

26. ikS/kksa esa jks'kuh dk D;k egRo gksrk gS\    
(A) lk¡l ysus ds fy, 

(B) ÅtkZ ig¡qpkus ds fy,  
(C) mRltZu ds fy, 

(D) buesa ls dksbZ Hkh ugha 
    

27. Environment is made up of - 

(A) Three elements  

(B) Four elements  

(C) One element  

(D) Five elements 
 

27. i;kZoj.k fdrus rRoksa ls cuk gS\    
(A) 3 rRo 

(B) 4 rRo 
(C) 1 rRo 

(D) 5 rRo 
    

28. Water pollutants are - 

(A) Heavy metals  

(B) Pesticides  

(C) Organic acid  

(D) All of the above 
 

28. fuEu esa ls dkSu lk ty iznw"kd gS\    
(A) “kjh /kkrq  
(B) dhVuk’kd 
(C) dkcZfud vEy 

(D) mi;qZDr lHkh 
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29. Soil erosion can be prevented by - 

(A) Overgrazing  

(B) Removal of vegetation  

(C) Shifting of soil  

(D) Afforestation  
 

29. ènk {kj.k jksdk tk ldrk gS &    
(A) vf/kd pjkbZ ls 
(B) ouLifr uk’k ls  
(C) ènk LFkkukUrj.k ls  
(D) ouhdj.k ls  

    

30. Bhopal gas tragedy occurred in - 

(A) 1984 

(B) 1985 

(C) 1983 

(D) 1961 
 

30. “ksiky xSl nq?kZVuk dc gqbZ Fkh\    
(A) 1984 
(B) 1985 
(C) 1983 
(D) 1961 

    

31. Wildlife Protection Act came into 

operation in India in- 

(A) 1965 

(B) 1972 

(C) 1974 

(D) 1970 
 

31. oU; tho laj{k.k vf/kfu;e “kjr esa dc ykxw 
fd;k x;k\    
(A) 1965 
(B) 1972 
(C) 1974 
(D) 1970 

    

32. Pyramid of energy is always - 

(A) Upright  

(B) Inverted 

(C) Circular 

(D) Triangular 
 

32. ÅtkZ dk fijkfeM lnSo gksrk gS &    
(A) lh/kk 
(B) mYVk 
(C) oÙ̀kkdkj 
(D) f=Hkqtkdkj 

    

33. State of India which is most affected by 

arsenic contamination? 

(A) M.P. 

(B) U.P 

(C) W.B. 

(D) Rajasthan 
 

33. “kjr dk dkSu lk jkT; vklsZfud ls lcls 
T;knk xzflr gS\    
(A) ,e-ih- 
(B) ;w-ih- 
(C) Cakxky 

(D) jktLFkku 
    

34. State of India which has dense forest? 

(A) M.P. 

(B) U.P 

(C) Bengal 

(D) Rajasthan 
 

34. “kjr ds dkSu ls jkT; esa lokZf/kd taxy 
bykdk gS\ 
(A) ,e-ih- 
(B) ;w-ih- 
(C) Cakxky 

(D) jktLFkku 
    

35. Richter scale measures - 

(A) Wind intensity  

(B) Ocean depth  

(C) Tidal waves  

(D) Earthquake intensity 
 

35. fjDVj Ldsy ukirk gS &    
(A) gok dh rhozrk  
(B) leqnzh; xgjkbZ  
(C) Tokj ygjssa 
(D) “wdai dh rhozrk 
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36. Which air pollutant is not released by 

motor vehicles? 

(A) SO2 

(B) Fly ash 

(C) Hydrocarbon  

(D) CO 
 

36. dkSu lk ok;q iznw"kd eksVj lkbZdy ls ugha 
fudyrk gS\    
(A) SO2 

(B) tyh jk[k 
(C) gkbMªksdkcZu 

(D) CO 
    

37. Sardar Sarovar dam is on the river - 

(A) Ganga 

(B) Godavari  

(C) Mahanadi  

(D) Narmada 
 

37. ljnkj ljksoj cka/k fdl unh ij gS &    
(A) xaxk 
(B) xksnkojh  
(C) egkunh  
(D) ueZnk 

    

38. The most polluted city of India is - 

(A) Delhi  

(B) Lucknow  

(C) Mumbai  

(D) Kolkata 
 

38. “kjr dk lcls T;knk iznwf"kr 'kgj gS &    
(A) fnYyh 
(B) y[kuÅ 

(C) eqEcbZ 
(D) dksydkrk 

    

39. Chemical present in tap water is - 

(A) Barium  

(B) Chromium  

(C) Fluorine  

(D) Chlorine 
 

39. dkSu lk jlk;u ihus okys ikuh esa ik;k tkrk 
gS\    
(A) csfj;e  
(B) Øksfe;e  
(C) ¶yksjhu  
(D) Dyksjhu  

    

40. Atmospheric pressure is measured in - 

(A) Monometer  

(B) Barometer  

(C) Tachometer  

(D) Anemometer  
 

40. ok;qe.My nkc dks ekirs gaS &    
(A) eSuksehVj  
(B) cSjksehVj 
(C) VSdkssehVj 
(D) ,uheksehVj 

    

41. Main source of energy is - 

(A) Respiration  

(B) Photosynthesis  

(C) Sunlight  

(D) Carbohydrates  
 

41. ÅtkZ dk eq[; L=ksr gS &    
(A) 'olu 

(B) izdk'k la’ys"k.k 
(C) lw;Z dk izdk’k  
(D) dkcksZgkbMªsV~l 

    

42. Part of earth and its atmosphere in which 

organism live is - 

(A) Biosphere  

(B) Biome  

(C) Biomass 

(D) Biota  
 

42. ìFoh ds ok;qe.My esa jgus okys ml “kx dks 
dgk tkrk gS] ftlesa tho fuokl djrs gaS &    
(A) tSo e.My  
(B) Ckk;kse 
(C) tSo “kj 
(D) ck;ksVk 
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43. Overgrazing results in - 

(A) Soil erosion  

(B) Productivity of soil  

(C) Both (A) & (B) 

(D) None of the above  
 

43. vR;f/kd pkjkxkg nksgu dk ifj.kke gksrk 
gS &    
(A) ènk {kj.k 
(B) ènk dh mRikndrk 
(C) (A) vkSj (B) nksuksa 
(D) buesa ls dksbZ ugha 

    

44. Fossil fuels and mineral resources are 

called - 

(A) Renewable  

(B) Non renewable  

(C) Both (A) & (B) 

(D) None of the above  
 

44. thok'e bZa/kuksa rFkk [kfut lalk/kuksa dks dgk 
tkrk gS &    
(A) uohdj.kh; 

(B) vuohdj.kh; 
(C) (A) vkSj (B) nksuksa  
(D) buesa ls dksbZ ugha 

    

45. Kaveri water dispute is between - 

(A) India and Pakistan 

(B) Punjab and Haryana 

(C) U.P and Madhya Pradesh 

(D) Karnataka and Tamil Nadu 
 

45. dkosjh ty fookn fdu jkT;ksa ds chp gS & 
(A) “kjr ,oa ikfdLrku  
(B) iatkc ,oa gfj;k.kk 
(C) ;w-ih- ,oa e/; izns’k  
(D) dukZVd ,oa rfeyukMq 

    

46. Tsunami is - 

(A) Type of wind  

(B) Cyclonic rain 

(C) Man-made disaster 

(D) A destructive ocean wave 

energy 
 

46. lqukeh gS &    
(A) gok dk ,d izdkj  
(B) pØh; tyo"kkZ 
(C) ekuoÑr vkink  
(D) fouk'kdkjh egklkxjh; rjax ÅtkZ 

    

47. One of the endemic species of India is- 

(A) Asian elephant  

(B) Lion tailed macaque 

(C) Whales 

(D) Panda  
 

47. fuEu esa ls dkSu lh Lons’kh iztkfr Hkkjr esa 
ik;k tkrh gS\    
(A) ,f’k;kbZ gkFkh 
(B) flag eq[k edkd ¼cUnj½ 
(C) Ogsy 

(D) ikaMk  
    

48. One of the Biodiversity hotspot in India - 

(A) Pachmarhi   

(B) Sundarban 

(C) Western ghat 

(D) None of them 

 

48. fuEufyf[kr esa ls dkSu lk LFky “kjr dk 

tSo fofo/krk gkWVLikWV gS &    

(A) ipe<+h  

(B) lqanjou  

(C) if'peh ?kkV 

(D) mi;qZDr esa ls dksbZ ugha  
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49. The environment modified by human 

activities is called - 

(A) Anthropogenic environment 

(B) Natural environment 

(C) Urban environment  

(D) Modern environment  
 

49. ekuo xfrfof/k ds dkj.k i;kZoj.k cnyko dks 
dgrs gSa &    
(A) ekuotfur i;kZoj.k  
(B) izkÑfrd i;kZoj.k  
(C) 'kgjh i;kZoj.k  
(D) vk/kqfud i;kZoj.k 

    

50. Forest cover in India - 

(A) 33% 

(B) 21% 

(C) 25% 

(D) 51% 
 

50. “kjr dk ou vkPNknu izfr’kr &    
(A) 33% 

(B) 21% 
(C) 25% 

(D) 51% 
    

51. Sound becomes hazardous noise 

pollution at - 
(A) Above 30 dB 
(B) Above 80 dB 
(C) Above 100 dB 
(D) Above 120 dB 

 

51. /ofu] gkfudkjd /ofu esa ifjofrZr gks tkrh 
gS &     
(A) 30 dB ls T;knk ij 
(B) 80 dB ls T;knk ij 
(C) 100 dB ls T;knk ij 
(D) 120 dB ls T;knk ij 

    

52. Which of the following is the percentage 

of nitrogen in atmosphere? 

(A) 21% 

(B) 78% 

(C) 26 % 

(D) 75% 
 

52. i;kZoj.k esa ukbVªkstu dk izfr’kr fdruk 
gksrk gS\    
(A) 21% 

(B) 78% 
(C) 26% 

(D) 75% 
    

53. In an ecosystem, bacteria are the - 

(A) Secondary consumers  

(B) Producers  

(C) Decomposers  

(D) Primary consumers  
 

53. ikfjfLFkfrd ra= esa thok.kq gksrs gaS &    
(A) nwljs ntsZ ds miHkksDrk  
(B) mRiknd  
(C) vi?kVd 

(D) izkFkfed miHkksDrk 
    

54. Which of the following is related to 

Silviculture?  
(A) Lakes  
(B) Hills  
(C) Forests  
(D) Rivers  

 

54. flYohdYpj fdlls lEcfU/kr gS\    
(A) rkykc  
(B) igkM+ 
(C) taxy  
(D) ufn;k¡ 

    

55. Which of the following is an indicator of 

air pollution? 
(A) Lichens  
(B) Algae  
(C) Cycas  
(D) Bryophytes  

 

55. ok;q iznw"k.k dk ekid gS &    
(A) ykbdsu 

(B) 'kSoky 
(C) lkbdl 

(D) czk;ksQkbV~l 
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56. Carbon monoxide poisoning can be cured 

by - 

(A) Eating butter  

(B) Drinking lemon water  

(C) Consuming multivitamin tablet  

(D) Exposing the affected person to 

fresh oxygen  
 

56. dkcZu eksuksvkWDlkbM ds tgj dk bykt 
fd;k tk ldrk gS &    
(A) ?kh [kkus ls 
(B) uhacw ikuh ihus ls  
(C) eYVhfoVkfeu xksyh ysus ls  
(D) 'kq) vkWDlhtu ysus ls  

    

57. Which of the following causes minimum 

environmental pollution? 

(A) Coal  

(B) Hydrogen  

(C) Diesel  

(D) Kerosene  
 

57. lcls de i;kZoj.k iznw"k.k gksrk gS &    
(A) dks;yk  
(B) gkbMªkstu  
(C) Mht+y  
(D) dsjkslhu  

    

58. The maximum biological damage is 

produced by - 
(A) X-rays  

(B) Beta rays  

(C) Gamma rays  

(D) Alpha rays  
 

58. lcls de tSfod uqdlku gksrk gS &    
(A) ,Dl&js  
(B) xkek&js  
(C) chVk&js 
(D) vYQk&js  

    

59. What does ozone layer absorb? 

(A) Gamma-rays  

(B) X –rays  

(C) Infrared rays  

(D) Ultraviolet rays  
 

59. vkst+ksu ijr D;k lks[k ysrh gS\    
(A) xkek&js 
(B) ,Dl&js 
(C) vojDr fdj.ksa 
(D) ijkcSaxuh fdj.ksa  

    

60. The term “green revolution” was coined 

by - 

(A) William Gaud  

(B) Charles Eldon  

(C) Eugene Odum 

(D) M.S. Swaminathan 
 

60. ^^xzhu fjoksY;w’ku^^ dk btkr fdlus fd;k 
Fkk\    
(A) fofy;e xksM+ 
(B) pkYlZ ,sYkMu 
(C) ;wthu vksMe  
(D) ,e-,l- LokehukFku 

    

61. Food chain and food web is made up of - 
(A) Trophic levels  
(B) Ecological niche  
(C) Ecological community  
(D) Community  

 

61. QwM psu vkSj QwM osc fdlls cuk gS &    
(A) VªksfQd Lrj 
(B) ikfjfLFkfrdh fudsr 
(C) ikfjfLFkfrdh leqnk; 
(D) leqnk; 

    

62. Each stages of food chain is called a/an - 

(A) Photon level  

(B) Trophic level  

(C) Phantom level  

(D) Energy level  
 

62. [kk| J̀a[kyk ¼QwM psu½ ds çR;sd pj.k dks 
D;k dgrs gaS\    
(A) QksVkWu ysoy  
(B) VªksfQd ysoy  
(C) QSUVe ysoy  
(D) 'kfDr ysoy  
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63. Any part of earth where life exists is 

called a - 

(A) Population  

(B) Community  

(C) Ecosystem  

(D) Biosphere  
 

63. ìFoh dk oks fgLlk tgk¡ thou gksrk gS] 
dgykrk gS &    
(A) tula[;k  
(B) leqnk; 
(C) ikfjfLFkfrdh ra= 

(D) thoeaMy 
    

64. The correct pathway of energy flow in an 

ecosystem is - 

(A) Producers → Carnivores →  

Herbivores → Decomposers  

(B) Producers → Herbivores → 

Carnivores  → Decomposers 

(C) Herbivores→ Carnivores → 

Producers  → Decomposers  

(D) Herbivores → Producers →  

Carnivores  → Decomposers  
 

64. ,d ikfjfLFkfrdh ra= esa ÅtkZ çokg dk lgh 
ekxZ gS& 
(A) mRiknd → ekalkgkjh → 'kkdkgkjh 

→ vi?kVd 

(B) mRiknd → 'kkdkgkjh → ekalkgkjh 
→ vi?kVd 

(C) 'kkdkgkjh → ekalkgkjh → mRiknd 
→  vi?kVd 

(D) 'kkdkgkjh → mRiknd → ekalkgkjh 
→ vi?kVd 

    

65. In desert ecosystem the camel is - 

(A) Producer  

(B) Decomposer 

(C) Primary consumer 

(D) Secondary consumer 
 

65. jsfxLrku ikfjfLFkfrdh ra= esa Å¡V gS &    
(A) mRiknd 

(B) vi?kVd 
(C) izkFkfed miHkksDrk 
(D) f}rh;d miHkksDrk 

    

66. Coal is a - 

(A) Non-renewable resource 

(B) Renewable resource  

(C) The reusable resource 

(D) Water resource  
 

66. dks;yk gS &    
(A) vuohdj.kh; lalk/ku  
(B) uohdj.kh; lalk/ku 
(C) iqu% iz;ksT; lalk/ku 

(D) ty lalk/ku 
    

67. Main source of  solar energy is - 

(A) Sun  

(B) Plants  

(C) Water  

(D) Animals  
 

67. lkSj ÅtkZ dk eq[; L=ksr gS&    
(A) lwjt  
(B) ikS/ks  
(C) ikuh  
(D) Tkkuoj  

    

68. Mining is done to extract - 

(A) Mineral  

(B) Soil  

(C) Water  

(D) Plants and Animals  
 

68. [kuu D;k fudyus ds fy, mi;ksx fd;k 
tkrk gS&    
(A) [kfut 

(B) feV~Vh 
(C) ty 

(D) i'kq vkSj ikS/ks 
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69. Acid rain is caused by - 

(A) SO2 and NO2 

(B) O2 and H2 

(C) CO2 and NO2  

(D) N2 and H2O  
 

69. vEyh; o"kkZ dk dkj.k gS&    
(A) SO2 and NO2 

(B) O2 and H2 

(C) CO2 and NO2  

(D) N2 and H2O  
    

70. The method to control environmental 

pollution is - 

(A) Environmental awareness  

(B) Implementation of 

environmental laws  
(C) Recycling and reuse of wastes  

(D) All of the above  
 

70. i;kZoj.k iznw"k.k dks fu;a=.k djus dh fof/k 
gS&    
(A) i;kZoj.k ds izfr tkx:drk 
(B) i;kZoj.k dkuwuksa dk dk;kZUo;u 
(C) dpjs dk iqupZØ.k vkSj iqu% mi;ksx 

(D) mijksDr lHkh 
    

71. World  Environment  Day  is celebrated 

on - 

(A) Ist May  

(B) 28th February  

(C) 5th June  

(D) 15th March  
 

71. fo'o i;kZoj.k fnol dc euk;k tkrk gS\    

(A) 1 ebZ  

(B) 28 Qjojh  

(C) 5 twu  

(D) 15 ekpZ  
    

72. In which year Wild Life Protection Act 

was passed? 

(A) 1970 

(B) 1975 

(C) 1972 

(D) 1982 
 

72. okbYM ykbQ izksVsD’ku ,sDV fdl o"kZ esa 
ikfjr gqvk\    
(A) 1970 
(B) 1975 
(C) 1972 
(D) 1982 

    

73. In decibel which pollution can be 

measured? 

(A) Air  

(B) Soil 

(C) Water  

(D) Noise  
 

73. fdl izdkj dk iznw"k.k Msflcy esa ukik tk 

ldrk gS\    

(A) gok  

(B) feV~Vh  

(C) ikuh  

(D) /ofu  
    

74. Ranthambore National Park  is situated  

in - 

(A) Maharashtra  

(B) Rajasthan  

(C) Kerala  

(D) Madhya Pradesh  
 

74. j.kFEHkksj jk"Vªh; m|ku dgk¡ fLFkr gS\    

(A) egkjk"Vª 

(B) jktLFkku 

(C) dsjyk  

(D) e/;izns’k  
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75. Which is not an example of fossil fuel? 

(A) Coal  

(B) Natural gas  

(C) Geothermal energy  

(D) Petroleum  
 

75. fuEu esa ls dkSu lk thok'e bZa/ku dk 
mnkgj.k gS\    
(A) dks;yk 
(B) izkÑfrd xSl 
(C) Hkw&rkih; ÅtkZ 
(D) isVªksfy;e 

    

76. What is the main raw material of biogas? 

(A) Soil  

(B) Water  

(C) Bacteria  

(D) Cow dung  
 

76. ck;ksxSl dk ewy nzO; D;k gS\ 
(A) feV~Vh  
(B) ikuh  
(C) cSDVhfj;k  
(D) xk; dk xkscj 

    

77. Which of these is not a renewable source 

of energy? 

(A) Coal  

(B) Water  

(C) Wind  

(D) Bio-gas  
 

77. buesa ls dkSu lk ÅtkZ ds uohdj.kh; 
lalk/ku ugha gS\    
(A) dks;yk  
(B) ikuh  
(C) gok  
(D) ck;ksxSl  

    

78. Which state is the largest producer of zinc 

and lead in India? 

(A) Gujarat  

(B) Rajasthan  

(C) Maharashtra  

(D) Madhya Pradesh  
 

78. dkSu lk jkT; “kjr dk lcls cM+k tLrk o 
ftUd dk mRiknd gS\    
(A) xqtjkr  
(B) jktLFkku  
(C) egkjk"Vª  
(D) e/;izns’k  

    

79. Non-recyclable resource is -  

(A) Iron  

(B) Paper  

(C) Copper  

(D) Mica  
 

79. xSj iqujkòfÙk lalk/ku gS &    

(A) yksgk  

(B) dkxt+  

(C) rkack  

(D) vHkzd  
    

80. The atmospheric layer in which we 

breathe is - 

(A) Thermosphere  

(B) Stratosphere  

(C) Ionosphere  

(D) Troposphere  
 

80. ok;qeaMyh; ijr  gS]  ftlesa  ge  lkal  ysrs  

gSa &    

(A) FkekZsLQh;j  

(B) lerki eaMy 

(C) vkbuksLQh;j 

(D) {kksHk eaMy  
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81. India’s first National Park is - 

(A) Bandipur  

(B) Periyar  

(C) Kanha  

(D) Corbett 
 

81. “kjr dk igyk jk"Vªh; m|ku gS &    

(A) ckUnhiqj  

(B) isfj;kj  

(C) dkUgk  

(D) dkWcsZV 
    

82. How many National parks were 

established in India till 1992? 

(A) 413 

(B) 420 

(C) 415 

(D) 416 
 

82. “kjr eas 1992 rd esa fdrus jk"Vªh; m|ku 
LFkkfir gq,\    
(A) 413 
(B) 420 
(C) 415 
(D) 416 

    

83. The correct food chain is - 

(A) Grasshopper→ Frog→ Snake   

(B) Grasshopper→Lizard→Peacock 

(C) Grasshopper →Monkey→ Lion  

(D) Grasshopper →Goat→ Lion  
 

83. QwM psu dkSu lh lgh gS\    
(A) fVÏh→ esa<d→ lk¡i 

(B) fVÏh→ fNidyh→ eksj  
(C) fVÏh→ canj→ 'ksj 
(D) fVÏh→ cdjh→ 'ksj 

    

84. What is the reason of competition on 

land? 
(A) Light  

(B) Food  

(C) Water  

(D) Soil  
 

84. ìFoh ij izfr;ksfxrk dh otg &    
(A) jks'kuh  
(B) ikuh  
(C) [kkuk  
(D) feÍh 

    

85. Control of water cycle - 

(A) Grass field  

(B) Collector 

(C) Forest  

(D) Plants  
 

85. typØ dk fu;a=d gS& 
(A) cxhpk  
(B) dysDVj 
(C) taxy 

(D) ikS/ks  
    

86. Who is the ecological controller?  
(A) Deer  
(B) Elephant  
(C) Tiger  
(D) Chinkara  

 

86. buesa ls ikfjfLFkfrd fu;a=d dkSu lk gS\ 
(A) fgj.k 
(B) gkFkh  
(C) 'ksj  
(D) fpadkjk  

    

87. Total salinity of sea water is- 

(A) 3 to 4 % 

(B) 10 to 12 % 

(C) 1 to 2 % 

(D) 5 to 7 % 
 

87. leqnz esa iw.kZ yo.krk dh ek=k gS &    
(A) 3 ls 4 % 

(B) 10 ls 12 % 
(C) 1 ls 2 % 
(D) 5 ls 7 % 
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88. Feed factors are made of - 

(A) Only from plants  

(B) Only from animals  

(C) Only birds  

(D) From the food chain animals  
 

88. QhM QSDVj cus gksrs gSa&    
(A) dsoy ikS/kksa ls 
(B) dsoy i'kqvksa ls 
(C) dsoy if{k;ksa ls 
(D) QwM psu ds i'kqvksa ls 

    

89. Biosphere preservation plan was started 

in- 
(A) 1976 

(B) 1946 

(C) 1986 

(D) 1966 
 

89. thoeaMy laj{k.k ;kstuk dc 'kq: gqbZ\ 
(A) 1976 
(B) 1946 
(C) 1986 
(D) 1966 

    

90. National bird of India is - 

(A) Peacock  

(B) Pigeon  

(C) Parrot  

(D) Owl  
 

90. “kjr dk jk"Vªh; i{kh gS&    
(A) eksj  
(B) dcwrj 
(C) rksrk  
(D) mYyq 

    

91. Who is not a source of power among the 

following? 

(A) Coal  

(B) Mine   

(C) Petroleum   

(D) Natural gas  
 

91. fuEu esa ls dkSu ÅtkZ dk L=ksr ugha gS\    
(A) dks;yk  
(B) [knku  
(C) isVªksy  
(D) uspjy xSl  

    

92. Main source of water in soil is - 

(A) River  

(B) Rain  

(C) Canal  

(D) Underground  
 

92. feV~Vh esa ikuh dk eq[; tfj;k gS&    
(A) unh  
(B) ckfj'k  
(C) duky  
(D) tehu ds vanj dk ikuh  

    

93. Soil is a………… natural resource. 

(A) Organic  

(B) Inorganic  

(C) Mixed  

(D) Biotic  
 

93. feV~Vh ,d --------------------- izkÑfrd lalk/ku gSA 
(A) tSfod 

(B) vtSfod 
(C) feJ 

(D) ck;ksfVd 
    

94. Food web - 

(A) Increases the stability of 

ecosystem.  

(B) Decreases the stability of 

ecosystem. 

(C) Does not affect stability. 

(D) None of these 
 

94. [kk| tky&    
(A) ikfjfLFkfrdh ra= dh fLFkjrk dks 

c<+krk gSA  
(B) ikfjfLFkfrdh ra= dh fLFkjrk dks 

?kVkrk gSA 
(C) fLFkjrk ij dksbZ izHkko ugha djrkA 
(D) buesa ls dksbZ ugha 
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95. Consumers are called - 
(A) Reducers  
(B) Detrivores 
(C) Phagotrophs 
(D) Autotroph 

 

95.  miHkksDrk dks dgykrs gaSA    
(A) vipkf;= 

(B) vijnkgkjh 
(C) Hk{kiks"kh 
(D) Loiks"kh 

    

96. Producers are absent in- 

(A) Photic region  

(B) Abyssal zone  

(C) Aphotic region  

(D) Coastal region  
 

96. fuekZrk vuqifLFkr gaS&    
(A) izdk'k {ks= esa 
(B) vry {ks= esa 
(C) vizdk'kh {ks= esa 
(D) rVh; {ks= esa  

    

97. Ozone layer is directly disturbed by - 

(A) Automobiles  

(B) Jet plane  

(C) Factories  

(D) None of the above  
 

97. vkstk+su ijr ij lh/ks ck/kk Mkyrh gS&    
(A) vkWVkseksckby  
(B) tSV foeku  
(C) dkj[kkus 
(D) buesa ls dksbZ ugha 

    

98. A fertile soil is likely to have pH value of-  

(A) 3-4 

(B) 6-7 

(C) 8-9 

(D) 10-11 
 

98. mitkÅ feV~Vh dk pH eku gksrk gS&    
(A) 3&4 
(B) 6&7 
(C) 8&9 
(D) 10&11 

    

99. Who first correctly defined the ecology? 

(A) Taylor  

(B) Haeckel  

(C) Tansley  

(D) Odum  
 

99. bdksykWth dh ifjHkk"kk lgh lcls igys 
fdlus nh\    
(A) Vsyj  
(B) gSdy 
(C) VSUlys 
(D) vksMe 

    

100. Pedology is the study of - 

(A) Locomotion in animals and 

plants  
(B) Soil  

(C) Rocks  

(D) Plant disease  
 

100. isMksyksth fdldh i<+kbZ gS &    
(A) tkuojksa vkSj isM+ksa dh pky  
(B) feV~Vh  
(C) iRFkj  
(D) isM+ dh chekjh  

    

----------------------------------------- 

 


